KANSAS CORPORATION COMMISSION ORIGINAL OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31569	API No. 15 - 163-23834-00-00
Name: Bach Oil Production	
Address: P.O. Box 723	County Rooks SE NW NW Sec. 34' Twp. 6 S. R. 20 East West
City/State/Zip: Alma, NE. 68920	1420' feet from S /kg (circle one) Line of Section
Purchaser: Coffyville Resources	1250' feet from E /(W) (circle one) Line of Section
Operator Contact Person: Jason Bach	Footages Calculated from Nearest Outside Section Corner:
Phone: ((circle one) NE SE NW SW
Contractor: Name: Anderson Drilling	Lease Name: Hansen Well #: 2-34
License: 33237	Field Name: DGH
Wellsite Geologist: Bob Peterson	Producing Formation: Lansing/KC
Designate Type of Completion:	Elevation: Ground: 2211' Kelly Bushing: 2216'
✓ New Well Re-Entry Workover	Total Depth: 3750' Plug Back Total Depth: 3727'
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 255' Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 3750'
Operator:	feet depth to surface w/ 550sx sx cmt.
Well Name:	Alt 2-Da-6/3/10
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used Air Dry
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of fluid disposal if fladied offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
11-27-09 12-5-09 1-10-10	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🔲 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workown Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-12) and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Date: 5-240	Letter of Confidentiality Received RECEIVED
Subscribed and sworn to before me this 24 th day of May	If Denied, Yes Date: KANSAS CORPORATION COMMISS
20.10 A CENEDAL M	Wireline Log Received MAY 2 7 2010
MAR DOLLER Was Alexander of Dankan Mark	RENE L. DECKER
Date Commission Expires: Quel 25, 2013	mm. Exp. Jan. 25, 2013 UIC Distribution CONSERVATION DIVISION WICHITA, KS

Operator Name: Ba	ch Oil Production			Leas	se Name: -	Hansen		_ Well #: 2-34		
	6 S. R. <u>20</u>	_ East ✓	West		ity: Rooks					
tested, time tool ope temperature, fluid re	Show important tops a en and closed, flowing ecovery, and flow rate gs surveyed. Attach	g and shut-in pr s if gas to surfa	essures, ice test, a	whether : long with	shut-in pre	essure reached	static level, hydro	static pressur	es, botto	m hole
Drill Stem Tests Take		✓ Yes	☐ No		V L	og Formati	on (Top), Depth a	nd Datum		Sample
Samples Sent to Ge	•	 ✓ Yes	□No		Nam Anhy			Top 1810		Datum ⊦406
Cores Taken		Yes	□No		Торе			3205	-	989
Electric Log Run		✓ Yes	☐ No		Heeb	. Sh.		3407	_	1191
(Submit Copy)		•			Tope	ka		3430	_	1214
List All E. Logs Run:	:				Lans	ing		3443	-	1227
					ВКС	J		3642		1426
					Arbu	ckle		3719	_	1503
					TD			3750'		1534
			CASING	DECORD		ew Used				
		Report all st			٠ - س	ermediate, produc	tion, etc.			
Purpose of String	Size Hole Drilled	Size Cas Set (In O			eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12 1/4	8 5/8"		20#		255'	сом	175sx	3%CC;	2%Gel
Production	7 1/4	5 1/2"		14#		3749'	ALHD	550sx	3%CC;	2%Gel
		ADI	DITIONAL	CEMENT	ING / SQL	JEEZE RECORD	<u> </u>			
Purpose: Perforate	Depth Top Bottom	Type of Ce	of Cement #Sacks Used		Type and Percent Additives					
Protect Casing										
Plug Off Zone			•							
	1									
Shots Per Foot		ON RECORD - E Footage of Each I			е	Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
4 shots	"I" @ 3593' to 3597	,,				400 gal 15% N	MCA, retreat W/7	50 gal 20% N	EFE	
4 shots	"J" @ 3602' to 3604	4'				250 Gal 15%	MCA			
4 shots	"K" @ 3630' to 363	4'				250 Gal 15%	MCA KANS	RECEIVE SAS CORPORATION	/ED	ISSION
					;					001011
								MAY 27	2010	
TUBING RECORD	Size 3/8"	Set At 3695		Packer	At	Liner Run	Cl Yes ✓ No	ONSERVATION WICHIT		ION
Date of First, Resumer	rd Production, SWD or E	inhr. Proc	lucing Meth	iod	Flowing	g ✓ Pumpir	ng Gas Lif	t Cthe	er (Explain))
Estimated Production	Oil	Bbls.	Gas I	Mcf	Wate			as-Oil Ratio	, ,,	Gravity
Per 24 Hours	18	J JIJ3.		*****	5	D	G	as on riallo	3	6'
Disposition of Gas	METHOD OF C	OMPLETION				Production Inter	val			
Vented Sold	Used on Lease	□ o	pen Hole	√ Per	rf. 🔲 🗆	oually Comp.	Commingled L	KC		
(If vented, Si	ubmit ACO-18.)	□ o	ther (Specil	(y)						



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887 (785) 483-5566

Fax:

Bill To:

Bach Oil Production R. R. #I Box 28

Phillipsburg, KS 67661

INVOICE

Invoice Number: 120826

Invoice Date: Dec 5, 2009

Page:

1

CustomerID	Well Name# or Customer P.O.	**Paymen	Terms		
Bach	Hanson #2-34	Net 30 Days			
Job Location	Camp Location	Service Date ∰ _ ≛	Due Date		
KS2-02	Russell	Dec 5, 2009	1/4/10		

Quantity	ltem 👢	Description	Unit Priče	Amount
550.00	The second of th	AMD Class A	22.95	12,622.50
275.00	SER	Handling	2.25	618.75
40.00	SER	Mileage 275 sx @.10 per sk per mi	27.50	1,100.00
1.00	SER	Long String	1,159.00	1,159.00
40.00	SER	Pump Truck Mileage	7.00	280.00
12.00	EQP	Centralizers	35.00	420.00
3.00	EQP	Basket	161.00	483.00
1.00	EQP	Insert	112.00	112.00
1.00	EQP	Guide Shoe	101.00	101.00
1.00	EQP	Plug	71.00	71.0
			RECEIVED PORATION COMMISSION	
		MA	Y 27 2010	
			RVATION DIVISION VICHITA, KS	
LL DDICES AE	RE NET PAYABLE	Subtotal		16,967.2

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 424181

ONLY IF PAID ON OR BEFORE Dec 5, 2009

Cultural	16,967.25
Subtotal	
Sales Tax	731.90
Total Invoice Amount	17,699.15
Payment/Credit Applied	
TOTAL	17,699.15

P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

7/100

@_

KU3	SELL, KA	NSAS 070	103				8 1 S 3
DATE	SEC.	TWP.	RANGE -	CALLED OUT	ON LOCATION	JOB,START	JOB FINISH
LEASE F. A. C.	WELL#	2.34	LOCATION	The state of the state of	25-6-	COUNTY	STATE
OLD OR NEW (C	ircle one)						
	•• • <i>t</i>						
CONTRACTOR	, <u></u>	*		OWNER			
TYPE OF JOB			A THE STATE OF THE PERSON NAMED IN	— CEMENT		•	
HOLE SIZE	art, i	T.D		_ CEMENT			
CASING SIZE	*35 et		PTH	_ AMOUNT O			
TUBING SIZE DRILL PIPE			PTH	2 2 5	1-1187 ()		
			PTH				
TOOL			PTH				Σ
PRES. MAX MEAS. LINE			NIMUM OF JOINT	_ COMMON_		_@	,
CEMENT LEFT II	N CCC	SHO	DE JOINT	_ POZMIX _		@	-
PERFS.	N CSG.	<u> </u>		_ GEL		@	
DISPLACEMENT		· 8 /25/	· · · · · · · · · · · · · · · · · · ·	_ CHLORIDE _		_@	-
DISPLACEMENT			·	_ ASC		_@	
	EQU	IPMENT		_ M.M. U	550		12,622.5
						@	-
PUMP TRUCK	CEMENT	ER	A	RECEIVE KANSAS CORPORATION	COMMISSION	_@	-
# 417	HELPER			Mary Cotti Citation		@	
BULK TRUCK				MAY 27	2010 — — — — — — — — — — — — — — — — — — 	_ @	-
# 37F	DRIVER	*	• •				
BULK TRUCK		•		CONSERVATION WICHITA	<u> VS</u>	_ @	
# 481	DRIVER		***			_@	
				 HANDLING_ 		_@_ _2,25_	618,75
	DEA	A DIZC.		MILEAGE _	10/5/sforte		1100-00
	KEN	AARKS:				TOTAL	14,341,2
<u> </u>				alare.	SERVI	CE	
<u> </u>		14, 1 4,					
		رُ الله الله الله		_ DEPTH OF JC)B		
	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	4 . 1	<i>t</i>	_ PUMPTRUCE			1159.0
				EXTRA FOOT		@	
		dore 1	· · · · · · · · · · · · · · · · · · ·	MILEAGE		@ <u></u>	280.00
<u> </u>	10/6	<u>(i) ,/*.</u>	we with the free to	- MANIFOLD _			
CHARGE TO:			MKG to				
STREET				-		TOTAL	1439 00
CITY	AT2	TF	ZIP				
1 1	O 17		ZII		PLUG & FLOAT	EQUIPMEN	T
Acres Chin	Export of						
			ž.	2 Frent in I	2007	@ 35,00	420.00
			ŕ	3 = 3400	4 3	@/6/,00	483,00
To Alliad Comercia	ina Ca T	I C		Burn Service	في د	@ 1 <i>67, 0</i> 3	1/2.00
To Allied Cement					£		***************************************
tou are nereby re	quested to	rent cem	enting equipment		* · · · · · · · · · · · · · · · · · · ·	@	101.00

and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661

INVOICE

Invoice Number: 120715

Invoice Date: Nov 27, 2009

Page:

1

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Bach	Hansen #2-34	10% 25, Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS2-01	Oakley	Nov 27, 2009	12/27/09

Quantity	ltem .	Description	Unit Price	Amount
105.00	MAT .	Class A Common	13.50	1,417.50
70.00	MAT	Pozmix	7.55	528.50
3.00	MAT	Gel	20.25	60.75
6.00	MAT	Chloride	51.50	309.00
184.00	SER	Handling	2.25	414.00
55.00	SER	Mileage 184 sx @.10 per sk per mi	18.40	1,012.00
1.00	SER	Surface	991.00	991.00
55.00	SER	Pump Truck Charge	7.00	385.00
		M	RECEIVED PRPORATION COMMISSION AY 27 2010 ERVATION DIVISION	
			WICHITA, KS	5 117 75

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1279 44

ONLY IF PAID ON OR BEFORE
Dec 22, 2009

Subtotal	5,117.75
Sales Tax	122.73
Total Invoice Amount	5,240.48
Payment/Credit Applied	
TOTAL	5,240.48

ALLIED CEMENTING CO., LLC.

SERVICE POINT:

MIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

			•		
11-27-09 SEC. TWP. RA	NGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH 12:30 AM
ATE 34 63	20W James	8N-1E-3N-1		COUNTY	STATE
,5,110,5	CATION	3, , , , , , , , , , , , , , , , , , ,			
OLD OR (NEW) (Circle one))	
ONTRACTOR - POR - POR	RY 2.L.C	OWNER	SAME		
TYPE OF JOB SURFACE	750'	CEMENT			
HOLE SIZE 1214 T.D.	258'	AMOUNT ORE	DERED		
CASING SIZE 8% DEPTH	<u> </u>	175 5ks 6	60/40 DOZ J	8CC 2% 9	Έ (
TUBING SIZE DEPTH			- p		
DRILL PIPE DEPTH				1.25E) e-1)
TOOL DEPTH PRES. MAX MINIM		COMMON	105 SKS	@ 15	141120
		POZMIX	705Ks	@ 7 5 3 @ 2c 25	528 50
VIETO. EX.	JOHNI	GEL	3 5Ks	@ 2c 25	60 25
CENTER I LEI I II COO.		_ CHLORIDE	6 SKS	@ 51 20	309 %
PERFS. DISPLACEMENT 151/2	OD/c	_ ASC	<u> </u>	@	
	<i>DD/3</i> ,			@	
EQUIPMENT					
_	• /			@	
PUMPTRUCK CEMENTER 18	RRY			_	
# 422 HELPER TE	er Y			_	
RULK TRUCK				_	
# 3% DRIVER <i>DA</i>	RRIN			_	
BULK TRUCK				_	
# DRIVER		- HANDLING_	184 SKS	@ 2 25	414
	• • • • • • • • • • • • • • • • • • • •	MILEAGE /	4 PER SK	MI/E	1012 %
DELAA DEZG.		MILLAGE 75		TOTAL	3741 75
REMARKS:				IOIAL	. 0111 4
CEMENT IN CELLAR.					
			SERVI	CE	
		- PENTH OF IO	D	258	
			B CHARGE		99/3
					777. 4
		_ EXTRA FOOT	55 M7	- @ <u>7 39</u>	385 €
				_	
	That You	MANIFOLD		_	
J.	AAAA TOO			_ @	
CHARGE TO: BACK DI/ PRO	direction a)	RECEIVED			60
CHARGE TO: _ DACK DLI / NO	X4C/I 875 KANS	AS CORPORATION COMMISSIO	IN	TOTAL	1376 2
STREET				IOIAI	, 7570
		-MAY 27 2010			
CITYSTATE	ZIP	UNGERTY CLASE DIVISION	₱LUG & FLOA	T EQUIPME	NT
					_
To Allied Cementing Co., LLC.				@	
to thine comening co., bbo.				@	